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Clap (7+8) /30
A. As shown in the following table , there are seven jobs , each one which has to go
through two Machines X , Y. In the same order ( X Y ) ,Processing Time is in

hours. Determine the Optimum Sequencing by using[ Johnson Algorithm] ,
including the follows :

Total Elapsed Time
Idle Times

The usage efficiency of each machine -
Waiting Times AR /r“
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B-As shown in the following Matrix , a Manager of small Production Factory decided to reach Maximum

Profit . Compute the Optimum Assignment to distribute available Jobs onto four Machines.

M/:c Ml M2 M3 M4

JOBS.
JI 10
S 2
8
7

J3
J4
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